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(S ] A EEZTEA N (2019528 7)) A REHER R

B Fho
4 A 3 4 5 6 7 8 9 10 11 12 1 2 3~2F R&t
=125 1t 3k 40 40 40 40 40 40 40 40 40 40 40 40 40
4548 L4 3,769 4,020 3,776 3,652 3,643 3,370 3,249 3,973 3,901 3,855 3,943 3,713 44,864
GIE:3 3,866 3,562 3,879 3,561 3,584 3,386 3,478 3,250 3,821 3,817 3,562 3,587 43,354
15 2t BT Xt EE 0.97 1.13 0.97 1.03 1.02 1.00 0.93 1.22 1.02 1.01 1.11 1.04 1.03
(RTA Lk) = (1.07) | (0.94) (0.97) (1.00) | (0.93) | (0.96) (1.22) 0.98) | (0,99 | (1.02) (0.94) =
[R# LE 4,713 4,530 4,629 4,542 4,487 4,648 4,666 4,829 4,851 4,878 4,416 4,488 55,678
(BIRA.R5T%) B4 4,972 4,328 4,765 4,834 4,999 4,846 4,784 4,708 4,875 5,094 4,623 4,439 57,269
22 4t BT Xt EE 0.95 1.05 0.97 0.94 0.90 0.96 0.98 1.03 1.00 0.96 0.96 1.01 0.97
(RTA Lk) = (0.96) | (1.02) (0.98) 0.99) | (1.049) | (1.00) (1.03) (1.00) | (1.01) | (0.91) (1.02) —
ey = -3 1,502 1,144 1,208 1,151 1,060 1,089 1,071 1,249 1,234 1,228 1,287 1,413 14,636
(AfR.3—9R) B4 1,223 1,071 1,029 1,280 1,320 1,400 1,334 1,293 1,406 1,309 1,132 1,121 14,920
15 2t BT Xt EE 1.23 1.07 1.17 0.90 0.80 0.78 0.80 0.97 0.88 0.94 1.14 1.26 0.98
(RTA Lk) = (0.76) | (1.06) (0.95) 0.92) | (1.03) | (0.98) 1.17 099 | (1.000 | (1.05) (1.10) =
LT L4 217 205 194 219 190 188 182 214 218 201 199 197 2,425
GIE:3 224 217 204 214 201 201 195 194 226 209 192 181 2,458
10 % BT Xt EE 0.97 0.95 0.95 1.02 0.94 0.94 0.94 1.10 0.96 0.96 1.04 1.09 0.99
(RTA Lk) = (0.95) | (0.95) (1.13) 0.87) | (0.99 | (0.97) (1.18) (1.02) | (0.92) | (0.99) (0.99) =
HE LE 2,178 2,339 2,034 2,178| 2,246 1,938 2,162 2,398 2,364 2,195 1,993 2,280 26,305
(—RHE. 2TFE) B4 2,110 1,942 2,018 2,141 2,204 1,996 2,125 2,133 2,430| 2,204 1,943 1,990 25,236
22 4t BT Xt EE 1.03 1.20 1.01 1.02 1.02 0.97 1.02 1.12 0.97 1.00 1.03 1.15 1.04
(RTA Lk) = (1.07) | (0.87) (1.07) (1.03) | (0.86) | (1.12) (1.11) 0.99) | (0.93) | (0.91) (1.14) —
5= L4 4878 4,274 3,476|  4,114| 4,036 3,282 4,126 4,438 4,267 3,994 3,805 4,288 48,977
B4 5,129 4,157 3,474 4,323 4,237 3,203 4,228 3,862 4,034 3,859 3,632 4,407 48,545
12 % BT Xt EE 0.95 1.03 1.00 0.95 0.95 1.02 0.98 1.15 1.06 1.03 1.05 0.97 1.01
(RTA Lk) = (0.88) | (0.81) (1.18) (0.98) | (0.81) | (1.26) (1.08) 0.96) | (0.94) | (0.95) (1.13) =
AR L4 2,434 2,308 2,469 2,520 2,580 2,494 2,559 2,717 2,788 2,811 2,366] 2,452 30,498
B4 2,699 2,171 2,352 2,527 2,682 2,423 2,482 2,494 2,780 2,711 2,265 2,325 29,912
12 % BT Xt EE 0.90 1.06 1.05 1.00 0.96 1.03 1.03 1.09 1.00 1.04 1.04 1.05 1.02
(RTA LL) = (0.95) | (1.07) (1.02) (1.02) | 0.97 | (1.03) (1.06) (1.03) | (.00 [ (0.84) (1.04) =
Ebi LE 19,691| 18,821 17,786 18,376| 18,242 17,009 18,015 19,818 19,623 19,162| 18,010{ 18,831 223,383
&t IE:3 20,226 17,449 17,721| 18,881 19,228| 17,454| 18,625 17,934| 19,573| 19,203| 17,3501 18,049 221,693
40 4 BT Xt EE 0.97 1.08 1.00 0.97 0.95 0.97 0.97 1.11 1.00 1.00 1.04 1.04 1.01
_ (AT A LE) — 1 96 | (095 | (1.03 | 099 | (0.93 | (1.06) | (1.10 [ 0.99) | (0.98) | (0.949 | (1.05) —
¥ 2017 (FER29) FAREBIYNMREEEZZEMLU -, TAITHEV. 2007E3ALRIOIHE . TBEFE | RV ST 1MENERELSTINVS,
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BAfs7: FKL-Fho

I A 3 4 5 6 7 8 9 10 11 12 1 2 3~2A Rt
) [B1Z5 1t 3% 29 28 28 28 28 28 28 28 28 28 28 28 28
=54 L4 2,641 2,276 2,276 2,179 2,512 2,418 2,265 2,432 2,463 2,317 2,183 2,120 28,083
IS 2,813 2,654 2,263 2,205 2,518 2,376 2,322 2,313 2,511 2,910 2,807 2,815 30,507
15 %t RATEXTEE 0.94 0.86 1.01 0.99 1.00 1.02 0.98 1.05 0.98 0.80 0.78 0.75 0.92
(RIIA k) — (0.86) (1.00) (0.96) (1.15) (0.96) (0.94) (1.07) (1.01) (0.94) (0.94) (0.97) =
3 L 5,951 5,643 5,854 5,564 5,550 5,804 5,511 5,990 5,772 6,165 6,209 5,836 69,850
IS 6,365 5,652 5,915 5,686 5,941 5,953 5,654 5,850 6,337 6,572 6,208 5,822 71,956
12 % RATEXTEE 0.94 1.00 0.99 0.98 0.93 0.98 0.97 1.02 0.91 0.94 1.00 1.00 0.97
(RIIA k) — (0.95) (1.04) (0.95) (1.00) (1.05) (0.95) (1.09) (0.96) (1.07) (1.01) (0.94) =
p— L 723 748 764 685 785 784 691 743 758 741 800 729 8,952
A4 741 712 715 676 717 723 704 667 719 760 759 683 8,576
13 4 RATEXTEE 0.98 1.05 1.07 1.01 1.10 1.09 0.98 1.11 1.05 0.98 1.05 1.07 1.04
(AT A k) — (1.03) (1.02) (0.90) (1.15) (1.00) (0.88) (1.07) (1.02) (0.98) (1.08) (0.91) =
BE&IE L 579 583 588 502 532 537 505 550 585 647 659 590 6,856
(PG BEE/v—%)|  BIE 658 614 544 511 600 592 542 562 609 665 657 520 7,075
13 4 RATEXTEE 0.88 0.95 1.08 0.98 0.89 0.91 0.93 0.98 0.96 0.97 1.00 1.13 0.97
(RIIA k) — (1.01) (1.01) (0.86) (1.06) (1.01) (0.94) (1.09) (1.06) (1.11) (1.02) (0.89) =
=R TN L 118 97 116 87 114 105 110 104 94 113 110 122 1,290
(FRIFLLEES|  BIE 145 90 118 121 122 113 103 105 120 127 97 81 1,343
7 4 RATEXTEE 0.81 1.07 0.99 0.72 0.94 0.93 1.06 0.98 0.78 0.88 1.13 1.50 0.96
(AT A k) — (0.82) (1.20) (0.75) (1.31) (0.92) (1.04) (0.95) (0.91) (1.20) (0.97) (1.11) =
MEE = F:d 456 435 395 404 431 428 419 468 427 463 459 429 5,214
(k. T —4%)| BIE 449 407 403 384 446 442 402 413 454 462 454 430 5,145
13 4 ATEXTEE 1.02 1.07 0.98 1.05 0.97 0.97 1.04 1.13 0.94 1.00 1.01 1.00 1.01
(AT A k) — (0.95) (0.91) (1.02) (1.07) (0.99) (0.98) (1.12) (0.91) (1.09) (0.99) (0.93) =
HEMR L 10,468 9,781 9,993 9,422 9,926 10,076 9,501 10,286 10,099 10,446 10,421 9,826 120,245
&Ft B4 11,172 10,130 9,958 9,582 10,343 10,198 9,728 9,910/ 10,750 11,497 10,982} 10,352 124,602
28 4 RATEXTEE 0.94 0.97 1.00 0.98 0.96 0.99 0.98 1.04 0.94 0.91 0.95 0.95 0.97
(RIIA k) — (0.93) (1.02) (0.94) (1.05) (1.02) (0.94) (1.08) (0.98) (1.03) (1.00) (0.94) =
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